N

( Trigonometry
Name:
Find all the six trigonometric ratios.
1) LD
D 60 C
sinD =
cosD =
61
tanD =
B
2) LG
F J G sin G =
cos G =
44
55
tan G =
H
3 £0Q
Q .
sin Q =
cosQ=
16V2
tanQ =
R 8 S

Date:

cosecD =

secD =

cotD =

cosec G =

secG =

cotG=

cosecQ =

secQ=

cotQ=
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N

( Trigonometry
Name:
Find all the six trigonometric ratios.
1) LD
D 60 C 1
sinD = 61
60
cosD = 61
61 11
tanD = 60
B
2) LG
4
F J G sin G = 5
3
cos G = 5
44
55 4
tan G = 3
H
3 £Q
Q _ 1
sin Q = 3
2V2
cos Q= 3
16V2
1
tanQ = 242
R 8 S

Date:
61
cosecD = 11
61
secD = 60
60
cotD = 11
5
cosec G = Z
5
secG = §
3
cotG= 4
cosecQ = 3
3
secQ= 242
cotQ= 2V2

www.softschools.com




